

Multiply by 10^{-2} (C)

Find each product.

$42 \times 10^{-2} =$

$76 \times 10^{-2} =$

$65 \times 10^{-2} =$

$76 \times 10^{-2} =$

$89 \times 10^{-2} =$

$80 \times 10^{-2} =$

$67 \times 10^{-2} =$

$43 \times 10^{-2} =$

$12 \times 10^{-2} =$

$14 \times 10^{-2} =$

$66 \times 10^{-2} =$

$53 \times 10^{-2} =$

$79 \times 10^{-2} =$

$60 \times 10^{-2} =$

$12 \times 10^{-2} =$

$62 \times 10^{-2} =$

$41 \times 10^{-2} =$

$43 \times 10^{-2} =$

$65 \times 10^{-2} =$

$67 \times 10^{-2} =$